AMENDMENT NO. SIX TO CONTRACT NO. 33967 33967

RE: Extension of Contract No. 33967 (ITB-PR15-095) for providing tree trimming services for Parks, Recreation & Marine to the City of Long Beach (3153400023, formerly BPPR15000023)

This Amendment to Contract No. **33967** is made and entered as of October 23, 2019, by and between the CITY OF LONG BEACH, a municipal corporation, and **Great Scott Tree Service, Inc.** (Contractor)

Contract No. **33967** is amended by mutual agreement of the parties and as indicated below by a check or other mark preceding the appropriate amendment:

X	1. The term is extended to March 31, 2020).
	2. No money added. Contract amount still	\$3,542,000.
	3. Prices during this period shall remain fir	m.
X	The price for certain items shall be inc incorporated herein by this reference.	reased as shown on Exhibit "A", which is attached hereto and
	5. The price for certain items shall be decincorporated herein by this reference.	creased as shown on Exhibit "A", which is attached hereto and
	6. The discount offered to the City is increa	ased by %
	7. The items or locations identified on Exhi reference, are hereby deleted from the 0	bit "B", which is attached hereto and incorporated herein by this Contract.
	8. The items or locations identified on Exhi reference, are hereby added to the Con	bit "B", which is attached hereto and incorporated herein by this tract.
	9. Current permits, licenses, insurance and	d other required information are attached as Addendum No. 1.
	in full force and effect. Executed with all f	nd conditions in this Contract are ratified and confirmed and formalities required by law as of the date first stated above. FOut-of-State Contractor
CONTI	RACTOR: (Signature)	CONTRACTOR: (Signature)
	Scott Griffiths	Scott Griffiths
	(Print / Type Name) President	(Print / Type Name) Secretary
Pi	resident / Vice President / Secretary / Treasurer (circle one)	President / Vice President / Secretary / Treasurer (circle one)
THE CI	EXECUTED FURSUANT TO SECTION 301 OF THE CITY CHARTER	Approved as to form: CHARLES PARKIN, City Attorney By: Deputy
		Deputy)

ATTACHMENT A: PRICES AND CPI DOCUMENTATION

BID SECTION

EXHIBIT A

SUBMITTED IS OUR BID IN ACCORDANCE WITH THE CITY OF LONG BEACH INVITATION TO BID, SPECIFICATIONS, AND TERMS AND CONDITIONS TO PROVIDE ALL LABOR, MATERIALS, EQUIPMENT AND SERVICES NECESSARY TO PERFORM TREE TRIMMING SERVICES INCLUDING TREE REMOVAL AND STUMP GRINDING.

PRICES QUOTED SHALL BE FOB DESTINATION FREIGHT PREPAID OF THE CITY OF LONG BEACH. PRICES SHALL INCLUDE ALL SHIPPING AND DELIVERY FEES. BIDDERS SHALL NOT INCLUDE FEDERAL EXCISE TAX OR STATE RETAIL SALES TAX IN THE PRICES QUOTED.

THE BIDDER IS REQUIRED TO BID ALL BID ITEMS IN A GIVEN BID SECTION.

BASE BID SECTION 1A: CITYWIDE PARKSI BEACHES, MARINAS AND QUEENSWAY BAY

	DESCRIPTION	EST. QTY	UNIT PRICE	EXT PRICE
1.	Ash	1,300	\$94.87	\$123,328.68
2.	Carob	500	\$83.64	\$41,820.60
3.	Carrot Wood	200	\$87.01	\$17,401.86
4.	Coral (first trim)	150	\$151.00	\$22,650.49
5 .	Coral (second trim)	150	\$83.64	\$12,546.18
6.	Jacaranda	750	\$83.64	\$62,730.91
7.	Eucalyptus	950	\$87.01	\$82,658.85
8.	Elm	1,500	\$87.01	\$130,513.97
9.	Ficus	150	\$109.46	\$16,419.50
10.	Oak	1,200	\$72.41	\$86,897.04
11.	Pepper	700	\$7 0.17	\$49,118.16
12.	Palm Trees	50	\$55.57	\$2,778.68
13.	Pines	2,000	\$98.24	\$196,472.64
14.	Queen Palm (first trim)	265	\$30.87	\$8,181.68
15.	Queen Palm (second trim)	265	\$25.26	\$6,694.10
16.	Sycamore	1,500	\$92.62	\$138,934.22
	SUBTOTAL Section 1A:	11,630		\$ 999,147.58

BID NUMBER ITB PR15-095 PHASE II

BID SECTION

(Bid Section 1 continued)

	Base Bid Section 1B Palm Trees		UNIT PRICE	EXT PRICE
17.	Mexican Fan Palm (withous kinning)	ut 3,600	\$ <u>30.87</u>	\$ <u>111,147.38</u>
18.	Mexican Fan Palm (second trim)	3,600	\$ <u>27.51</u>	\$ <u>99,022.21</u>
	Base Bid Section 1C	SUBTOTAL	Section 1B:	\$ <u>210,169.59</u>
19.	Mexican Fan Palm (with skinning)	Per Foot	\$ <u>14.03</u>	
20.	3-Man Crew for trees inaccessible with equipment. (Once a year for 1 park).	Rate Per Hr:	\$ <u>249.24</u>	

Subtotal for Section 1:

Section 1A: \$ 999,147.58

Section 1B: \$210,169.59

Section 1C: \$ 263.27

TOTAL for Section 1: \$ 1,209,580.44 (Section1A+1B+1C)

SUBTOTAL Section 1C: \$ 263.27

BASE BID SECTION 2: URGENT/EMERGENCY TREE TRIMMING

The bidder is cautioned to *include all mobilization and general costs* into the "Mobilization Fee" bid item, which will be the same regardless of the number of trees to be trimmed.

There were ten calls for service last year.

DESCRIPTION	<u>UNIT PRICE</u>
Mobilization Fee (Standard-3 man crew)	\$ 218.93
Palms	\$ 50.52
Coral & Ficus	\$ 202.09
Deciduous (e.g. Ash, Elm, Sycamore)	\$ 162.79

BID SECTION

Evergreen (e.g. Pines, Eucalyptus)

\$ 162.79

SUBTOTAL Section 2: \$ 797.12

The City will award based on the total bid pricing found in the Base Bid (Sections 1 and 2); however the City reserves the right to award alternates on a separate basis.

Section 1: \$ 1,209,580.44

Section 2: \$ 797.12

TOTAL BASE BID: \$ 1,210,377.56 (Section 1 + Section 2)

One Million, Two Hundred and Ten Thousand, three hundred seventy-seven Dollars and fifty-six Cents (Write out total base amount bid amount in words)

BID SECTION

BID ALTERNATES

BID ALTERNATE SECTION 3: MTA RIGHT-OF-WAY

Palms are trimmed on an annual basis.

DESCRIPTION	EST. QTY.	UNIT PRICE	EXT PRICE
1. Mexican Palm Trees	200	<u>\$ 61.19</u>	\$ 12,237.44

SUBTOTAL Section 3: \$ 12,237.44

Note: Please refer to Section B under Contract Specifications regarding the requirements for trimming this area.

The bidder must also complete the following section:

BID ALTERNATE SECTION 4: AS NEEDED TREE REMOVAL

During the course of the Contract, the City may require tree removal services for which the Contractor will be required to remove entire trees of various natures along with the stump and all roots up to two (2) inches in diameter. The number of trees, the location of the trees, and the species cannot be anticipated.

The Contractor must not remove any trees without a request from the City and without prior notification to the City.

The bidder is cautioned to include all mobilization and general costs into the "Mobilization Fee" bid item, which will be the same regardless of the number of trees to be removed.

DESCRIPTION

UNIT PRICE

Mobilization Fee (Standard 3 man crew)

\$ 218.93

SUBTOTAL Section 4A: \$ 218.93

Tree Trimming Services for Parks, Recreation & Marine

Section 4B Tree Removals by DSH

DSH	EST. QTY.	UNIT PRICE	EXT PRICE
0-4"	50	\$ 106.66	\$ 5,332.83
4"-10"	100	\$ 331.20	\$ 33,119.67
10"-17"	150	\$ 555.74	\$ 83,360.53
17"-24"	150	\$ 668.01	\$ 100,201,05

Page 4 of 5

BID NUMBER ITB PRIS-095 PHASE II

BID SECTION

24"-30"	150	\$ 780.28	\$ 117,041.56
30"-37"	40	\$ 892.55	\$ 35,701.89
37+ DSH	25	\$ 892.55	\$ 22,313.68

Total: 665

Subtotal Section 4B: \$ 397,071.21

Subtotal for Section 4

Section 4A: \$218.93

Section 4B: \$397,071.21

TOTAL Section 4: \$397,290.13 .(Section 4A + Section 48)

PAYMENT TERMS: Net 30

ARBORIST IDENTIFICATION:

Please provide the name of the certified arborist who shall fulfill the specified arborist responsibilities.

Stephen Darden, ISA Certified Arborist #WE-7654A

BIDSUMMARY:

TOTAL BASE BID: \$ 1,210,377.56

BID ALTERNATE SECTION 3: \$ 12,237.44

BID ALTERNATE SECTION 4: \$ 397,290.13

CPI-All Urban Consumers (Current Series) Original Data Value

Bureau of Labor Statistics

Series Id:

CUURS49ASA0, CUUSS49ASA0

Not Seasonally Adjusted Series Title: Los Angeles-Long Beach-Anaheim, CA

All items in Los Angeles-Long Beach-Anaheim, CA, all

Area:

All items 1982-84=100 2009 to 2019 Base Period: tem:

Years:

×	Year	Jan	Feb	Mar	Apr	May	Jun	3	Aug	Seo	Ö	No.	Dec	Annual	HALF1	HAI F2
2009	2	20.719	221.439	221.376	221.693	222.522	223.906	224.010	224.507	225.226	225.264	224,317		223.219	221.943	224.495
2010	a	24.610	224.620	225.483	225.916	226.438	225.877	225.991	226.373	226.048	226.794	225,941		225.894	225,491	226.298
2011	N	28.652	229.729	232.241	233.319	233.367	232.328	231.303	231.833	233.022	233.049	232.731		231.928	231.606	232.251
2012	N	33.441	234,537	236,941	236.866	237.032	236.025	235.776	237.222	238.104	240,111	237,675		236.648	235.807	237,488
2013	N	38.015	239.753	239,995	239.043	239.346	239,223	238.920	239.219	239,611	239.940	238.677		239.207	239,229	239.185
2014	Ø	39.857	241.059	242.491	242,437	243.362	243.528	243.727	243.556	243.623	243.341	241,753		242.434	242.122	242.746
2015	N	239.724	241.297	243.738	243.569	246.093	245.459	247.066	246.328	246.328 245.431	245.812	245.711	245.357	244.632	243.313	3 245.951
2016	N	47.155	247,113	247.873	248.368	249,554	249.789	249.784	249.700	250.145	251.098	250.185		249,246	248.309	250.184
2017	N	52.373	253.815	254.525	254.971	255.674	255.275	256.023	256.739	257.890	258.883	259.135		256.210	254.439	257.982
2018	N	61.235	263.012	264.158	265,095	266,148	265,522	266.007	266.665	268.032	269.482	268.560		265.962	264.195	267.730
2019	N	69.468	269.608	271.311	273.945	274.479	274.380								272.199	

245,431 11.80% 8.00% 3.80% Contract Start Date: September 2015
Current Delta: June 30, 2019
Less Previous Increases: September 2017 + 2018
Current Requested Increase